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1. 1. Read the passage and translate into Polish. 

Overall, men have a higher accident rate, even after 

adjustments are made for fewer hours worked by women. 

However, women tend to be concentrated in certain jobs and 

therefore face hazards particular to those jobs. Continuous 

efforts are needed to improve the working conditions of both 

women and men. However, taking a ‘gender-neutral’ 

approach to risk assessment and prevention can result in 

risks to female workers being underestimated or even 

ignored altogether. 

                             2. Match  the questions to the answers (Dopasuj 

pytanie do odpowiedzi): 

                             a) What is the main idea of the text? 

                             b) What are the main causes of accidents among 

women? 

1. The main  idea of the text is  that  men have a higher 

accident rate, woman tend to be concentrated in certain jobs 

and therefore face hazards particular to those jobs. 

 2. The  main causes of accidents among woman  are that 

the female workers underestimate and ignore dangerous 

situations. 

 

 

2.              1. Read the passage and translate into Polish. 

                        The term ‘migrant workers’ covers a wide range of 

people with different reasons for  migration and varying skills 



levels. Not all migrant workers are ‘at risk’, but there are three 

pressing occupational safety and health issues: 

-high employment in high risk sectors 

-language and cultural barriers to communication and safety and 

health training 

-migrant workers often work a lot of overtime and/or are in poor 

health and thus are more prone to occupational injuries and 

diseases. 

                     2. Match  the questions to the answers (Dopasuj pytanie do 

odpowiedzi): 

                     a) What is the main idea of the text? 

                     b) What are the main causes of accidents among “migrant 

workers”? 

 

1. Migrant workers often work a lot of overtime and / or are in poor 
health, and thus are more prone to injuries and occupational diseases. 
2.High level of employment in high-risk sectors 

and language and cultural barriers to communication and the safety and 

health of workers. 

 

3. 1. Read the passage and translate into Polish. 

                            Dangerous substances – meaning any liquid, gas 

or solid that poses a risk to workers’   health or safety – can be 

found in nearly all workplaces. Across Europe, millions of workers 

come into contact with chemical and biological agents that can 

harm them. According to recent research, 19 % of EU workers 

report being exposed to toxic vapours for a quarter or more of their 

working time, while 15 % of workers have to handle dangerous 

substances as part of their daily work. 

 

                           2. Match the questions to the answers (Dopasuj pytanie 

do odpowiedzi): 

                        a) What is the main idea of the text? 



                        b) What can you say about dangerous substances? 

 
1. Unfortunately, you can not eliminate a number of jobs. 

2. Hazardous substances are present in many workplaces. They are a 

threat to the health or emergency workers 

 

4. Przeczytaj fragment i przetłumaczyć na język angielski. 

 

Poślizgnięcia, potknięcia i upadki są najczęstszą przyczyną 

wypadków we wszystkich sektorach od przemysłu ciężkiego do 

prac biurowych. Inne zagrożenia to spadające przedmioty, 

oparzenia termiczne i chemiczne, pożary i wybuchy, 

niebezpieczne substancje i stres. Aby zapobiec wypadkom w 

miejscu pracy, pracodawca powinien stworzyć system 

zarządzania bezpieczeństwem, który zawiera procedury oceny i 

monitorowania ryzyka. 

 

 5. Przeczytaj fragment i przetłumaczyć na język angielski. 

Niepełnosprawni pracownicy powinni otrzymywać równe 

traktowanie w pracy. Zdrowie i bezpieczeństwo nie powinny być 

wykorzystywane jako pretekst do niezatrudniania lub nie 

dalszego zatrudniania osób niepełnosprawnych, na przykład 

twierdząc, że pracownik na wózku nie może uciec z budynku w 

nagłych wypadkach lub że pracownik z upośledzeniem słuchu 

nie słyszy alarm pożarowy. 

 

6. Przeczytaj fragment i przetłumaczyć na język angielski. 
 
Środki zapobiegania wypadkom dla osób niepełnosprawnych, 
może również przyczynić się do zmniejszenia liczby wypadków 
wszystkich pracowników, takich jak: 
-dobre oświetlenie w miejscu pracy 
bezpieczny dostęp do miejsca pracy i wyjścia 
-dobrze utrzymane trasy ruchu pieszych oraz w miejscu pracy 
-jasna komunikacja i dobry podpisanie zagrożeń i ryzyka w 
miejscu pracy. 

 


